d’c / d p™ d |y"™ [pb/GeV]

Ratio to ATLAS

T

13000 GeV pp tt
10 E|_ T I T I T I T I T | T I T I —|E 42
- ptTOp (ATLAS semileptonic ttbar) = %
B 1=
— m ATLAS — :::
1 & —— Pythia 8.308 default N
= Pythia 8.308 tune-1 43
— = Pythia 8.308 tune-2c s
| Pythia 8.308 tune-2m i T
10—1 I N — ad
s \* .
- i
1072 & s
— =
— i )
L ™M
— — <
- | >
i 7%
T,
-3 | _|lc
107 E = El=
L ] EJ_
B 12
| -9
o
(@]
107 B, | | — | | n=h
2 & 2
1 11
i / |
0.5 — —0.5
l . L . L . L . L . l . . l
0 500 1000

pt"* [GeV], [y in [0,0.7]



	Contents
	Page 1


